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Al 17,500
01 289 35,000 0 35,000
OHACCPZIZE & BAHECIAQ ZHEd &Y 35,000
= 17,500
Al 17,500
301 LB A F 5,000 0 5,000
< 2,500
Al 2,500
09 EALAHIE &S 5,000 0 5,000
Oextatey 88X Ast 5,000
< 2,500
Al 2,500
402 BI2EX =01 M 360,000 0 360,000
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Al 180,000
01 It 2 AL B X 360,000 0 360,000
O6XtAtY = D HAIH 360,000
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Al 13,500
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—LOMETZ0e nSEE0Y LAY
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Ositdg &8 1,000
2 500
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09 SALAHIEA S 1,080 1,080 0
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2 540
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sgllsEg 323 10,000 10,000 0
2 4,000
Al 6,000
101 124 dl 10,000 10,000 0
2 4,000
Al 6,000
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206 T 24 1,000 1,000 0
2 500
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 25,000
OZUAZS Moo 2E2AE A
2,000,000& *3H 2= «80% 4,800
< 1,800
Al 3,000
ORMAE HAXHGHUEH AlY
7,500,000& *2H 2= «80% 12,000
= 4,500
Al 7,500
OAMEJ0 XSHH MHSASAIY
5,000,000& *4H 2= «80% 16,000
= 6,000
Al 10,000
OclgfU2d ZZael UsstAlg
25,000,000& = 1JH 2= «80% 20,000
< 7,500
Al 12,500
HA SO satE Ma olEegt 2= 80,000 70,000 10,000
= 40,000
Al 40,000
402 QI2H X201 M 80,000 70,000 10,000
< 40,000
Al 40,000
01 B2t AL E X 80,000 70,000 10,000
OUME M3sd SAMEH Ml
100,000,000 *1JH 2 x80% 80,000
< 40,000
Al 40,000
ANz Zedls 200,000 200,000 0
= 100,000
Al 100,000
402 QI2H X201 M 200,000 200,000 0
= 100,000
Al 100,000
01 It =2 AL E X 200,000 200,000 0
Ostsl =UHsd 33 228 Z2HE 200,000
= 100,000
Al 100,000
==3E MDl= 34,000 31,500 2,500
402 RIZFX20l A 34,000 31,500 2,500
01 St 2 At B X 34,000 31,500 2,500
OztsllsIt 12J AHSEAE A"
12,000, 0002 *2JH 2 x50% 12,000
OJlsd SW2EALD THHH &8 & Al EH
44,000,000 *1JH 2 #50% 22,000
S &= 102,500 194,560 A 92,060
402 RI2EX=20| M 102,500 194,560 A 92,060
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M SN (SEHLLL/ Y - 5E)
Sl =IIFY JsEE CERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 A2t SAIE E =X 102,500 194,560 N 92,060
OLI DM STEZEN
14,000, 000& *5JH A *50% 35,000
OAEJNEZE EHADIA S-HAIY
5,000,000 *6IH A *50% 15,000
ONUASY HFHSOOIZ WHAEY
3,500,000 *30H 2 *50% 52,500
AHOIHH =0 OHAHE SAeFskal X3 1,950 1,900 50
201 Lt 2| 1,950 1,900 50
01 At 22l bl 1,950 1,900 50
Ogst=2H| 1,050
— AIOIH OHAHIE = &9 50,0003 =304 150
— ALOIH OHAHIE =0 M 18,000 x50 900
o294 900
— ALOIH OHAHIE = 2AIY
150,000& *6H 900
HESAAH (=S X)) (IIEH/DIE 167,762 156,320 11,442
ol 2AY| 110,346 99,404 10,942
ol 2AH| 110,346 99,404 10,942
101 2121 4| 110,346 99,404 10,942
03 RINHA22XHE %= 110,346 99,404 10,942
OsJlHz3us BEX3 38,150
—-Jl2= 1,675,700& 128 1A 20,109
—J| &> 22,748,400 x43| / 12& 7,583
— 9 E S| 837,850& 23| x1H 1,676
— HHZAYH| 120,000 x 128 x1H 1,440
— WEEXH| 100,000& 128 x1H 1,200
— A2t 2 R 11,700& *20Al 2t x 128 x 1 2,808
-4 93,610 20 x1H 1,873
— AX =G 62,400& x17L x1H 1,061
— I =4l 200,000& 23| x1H 400
ODIMEWAHEHSIERSA 36,216
—-Jle3 1,599,710& x 128 x1H 19,197
—J| G 21,836,520%43] /12& «1&H 7,279
— &S| 799,850 x1H 23] 1,600
— 3 HZAH| 120,000& x1H ~ 128 1,440
— WEZXH| 100,000& *1H x12& 1,200
—AZ2HA2 R 11,2302 *20A| 2t x12& 1 H 2,696
—s5axg 89,860& x20 x1H 1,798
— X E 30,280& 20 x1H 606
— I =l 200,000& *23| *1H 400
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5 - 4
SA - BB B (BA) - MM - BHES e
OsJIHYUME BEX22 35,980
—Jlzs 1,549, 1102 128 »1H 18,590
—Jlg=g 21,229,320% *43| /122 1Y 7,077
— BE S| 7745503 x 1«23 1,550
— ZHZ A 120,000 x1H x 123 1,440
—Ws2L| 100,000& 1H 128 1,200
—JIE>Z(EHH) 20,0003 x2H =128 480
— Azt 22 10,920& »20Al 2tx 123 «1H 2,621
-5 87,3603 x20 «1H 1,748
S DN ER= 58,240& x 15 »1H 874
— I =l 200,000& *23| «1H 400
=3t 57,416 56,916 500
Jl223 57,416 56,916 500
201 Lt 2| 12,006 12,096 0
01 At 22l 12,096 12,096 0
ORNME2Y Jl=ZHl 12,096
202 O4dl 42,320 41,820 500
01 = LH o4 1l 42,320 41,820 500
O =L Hi 42,320
203 YR =2t 3,000 3,000 0
04 FN2ELSFAH 3,000 3,000 0
ORN2Y g2z 3,000




